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the value of my house before I actually sold it.

§1-1 asked someone to

1) prepare 2) produce 3) estimate 4) enhance

§3- One of the === of birds is their ability to fly.
1) gestures 2) conditions 3) features 4) tasks

84- There was something on the surface of the water.
|) leaning 2) attaching 3) transferring 4) floating

§5- Students are normally ~-—-— about the results of their exams.
1) anxious 2)-emotional 3) conscious 4) specific

86- The area has a high population ---—-----, Therefore, there will be a heavy traffic
over there.
1) income 2) density 3) function 4) issue

§7-France plans to ~——- a satellite to measure the temperature of the Earth’s
upper atmosphere, ’
1) recycle 2) enter 3) launch 4} forward

§8- People form their first of one another in the first few seconds after they
come into contact.
I)impressions  2)expressions  3)aspects 4) postures

89- My friend, Ahmad, is always - new word in the dictionary.
1) helping out 2) looking up 3) going round 4) carrying out

90- The noisy student was ordered fo leave the room Y
1) finally ) comfortably ~ 3) continuously  4) immediately

Part C: Cloze Test

Directions: Questions 91-95 are related fo the following passage.

Read the passage and decide which choice (1), (2), (3), or (4) best fits
‘ each space, Then mark your answer sheet.

The name “soccer™ is short for “association football” A hundred years ago
the game was called 91) -~ football. It was very popular in England. But at
that time a newer kind of football 92) ——-- also being played in England. It had
been 93) -——-- at Rugby, a famous English school, in 1813, In the older game
the only way of getting the ball down the 94) - fo score was to kick it. The
newer game allowed players to run with the ball. Often two teams would met,
only to find that one of the teams 95) ~-—-— by the hitting rules and the other
by the running rules.

91- 1) carelessly 2) simiply 3) briefly 4) orally

92 1) was 2) had 3) has been 4) has

93-1) tnvolved 2) provided 3) handled 4) developed
94-1) area 2) scene 3) field 4) base

95-1) played 2) to play 3) plays 4) were plaving
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| Part A: Grammar
| Directions: Questions 76-80 are incomplete sentences. Beneath each

| sentence you will see four words or phrases, marked (1), (2), (3), and
(4). Choose the one word or phrase that best completes the sentence.
Then mark your answer sheet.

76- My father advised me and my brother ----—-—- a used car.

1) do not buy 2) not to buy 3)wedonotbuy  4)to not buying
77-The children that school receive a good education,

|) attend 2) attended 3) attending 4) are attending
78- Please turn down the radio disturb anybody.

Iforyounotto  2)sothatnotto  3)inordertonot  4)soasnotto
79-1 don't think he's really - for this kind of job.

1) such experienced 2) experienced enough

3) enough experienced 4) such an experienced
80- A: “Mary wasn't present at school.”

B: “She at home because of her sickness,”
) might stay 2) can stay
3) should have stayed 4) must have stayed

Part B: Vocabulary
Directions: Questions 81-90 are incomplete sentences. Beneath each

sentence you will see four words or phrases, marked (1), (2), (3), and
(4). Choose the one word or phrase that best completes the sentence.

Then mark vour answer sheet,

I can tell vou that we have had a very successful

81- Without going into
year.
1) details 2) events 3) terms 4) effects
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Part D: Reading Comprehension
Directions: In this part of the test, you will read a passage. The

passage is followed by five questions. Answer the questions by

| choosing the best choice (1), (2), (3), or (4). Then mark your answer
sheet.

Before Newton’s time, scientists knew something about gravity. They knew
that gravity makes objects fall to the ground and keeps houses and people from
being thrown into space. Could it be, Newton asked himself, that the earth pulls
the moon and keeps it from running away? And could it be that the sun pulils

the earth and the other planets and helps keep them in their paths? Newton
thought so.

At first he could not prove that his idea was right. He himself decided that he
was on the wrong track. But years later he worked again on the problem and
found out that he had been right after all. He wrote a famous book about
gravity.
Newton made many other discoveries. Some of them were about light. He
found out, for instance, that sunlight is made up of the rainbow colors. He
studied sunlight partly by blowing soap bubbles and watching the colors in
them. His neighbors were surprised to see a grown man blowing bubbles for
hours at a time.
Newton wanted to find out more about the planets and the other heavenly
bodies. But he was not satisfied with the telescopes that were available. To get a
better one he invented a new kind—a reflecting telescope. It helped him find out
many new things about the sky.
96- Scientist who lived before Newton i

1) were familiar with what we now call gravity

2) did not know why objects fell to the ground

3) did not understand that some force held them tied to the Earth

4) were amazed at the fact that houses kept sticking to the ground
97- Newton wrote his first book when he .

1) realized that his 1deas were correct

2) found out he was on the wrong track

3) decided to become famous in his country

4) decided to share his experiments with other scientists

98- The phrase “made up” in paragraph 3 is closest in meaning to ~—————--==-- ;
1) bent 2) built 3) composed 4) separated
99- The word “one” in paragraph 4 refers to -.

1) kind 2) view 3) experiment 4) telescope



